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©_ 2. Find the area of this parallelogram.
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A 4. Theareaofa parallelogram is 77.9 cm?. The base is 9.5 cm. Find the height. /‘{&6& - M)‘ m

3 3%2: Mink abour The nuwber Mq—/,;-——p H O cm>e 4.5 A
c. 68.4cm melejplied by 76 gwesyo ’ 7eq=8)
d. 16.4cm f J a -9 Wm <. ﬁi < Gl = TR

9.5



© 5. Find the area of this right triangle.
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2 7. The area of a triangle is 54 cm?. If the base measures 12 cm, what is the height?
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8. A triangle has area 64 m? and height 16 m. What is the length of thebase? G __E‘,.{f,—
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& 10. A rectangular piece of fabric measures 68 cm by 96 cm. A tnangular scarf with height 15 cm and base 30cm
is cut from the fabric. How much fabric is leﬁ? &«

a. 6303 cm? ., AFEQW o SoiTRact.
b. 6753 cm?
6078 cm?)
d. 6303.5cm?
Jo 6% AReas of . Gy arnx bc?an-
= J%M = 05828 crm®

Ab
‘/A)@w = 30x 15 = Y50 cmZ ‘
Sl "

RfT ORE Cobric= 6528 cm? - UE0 arPs 60T om™

4 11. Find the area of thls circle. Leave 7 in your answer.
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|2 12. Find the area of a circle that has diameter 28.9 cm. Round your answer to ope decimal plade: |
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& 13. Find the area of this circle. Leave 7 in your answer.
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€  14. Find the area of this circle. Round your answer to two decimal places.
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Short Answer

15. Find the base and height of this parallelogram. Find the area.
The side length of a small square is 1 unit.
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16. Find the missing height if the parallelograms have the same area. q}b\;.( :3/‘0{\2
> )\
V4 0 A
\q#g cﬁf“wﬂ o B2 A g

)
/[

18 cm Agcm. \\//

1 h —~
...




18. A large pizza has diameter 36 cm and a medium pizza has diameter 30 cm.
What is the difference in area of the pizzas?

Round your answer to the nearest

square centimetre.
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Find the area of

a) the large triangle
b)  the shaded rectangle
c) the unshaded region
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